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(AR NS 5.2 1 mA SR bifers <1
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K* A« DTl el 11 |
() Define critical solution temperature.
What do you mean by upper critical
solution temperature and lower critical .
solution temperature ? Explain the.
. phenol-water binary system. Explain the

effect of impurities on critical solution
temperature. 1+2+5+2=10

Fifes w39 TIeoR e il | B wifes el

Tew] O R @Ifes wae Saes) 3Tt [ @ e
- ReeT-oieT! G olieeRe o 1R 41 | IS wael
~ CeolT 9oige ST efei it 4 |
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-The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following qués_tions: fx/i=1

(a) What is the value of ionic product of
water at 25°C ? '

25°C THOIS AN SN @oTers e s 2

(b) Name one reducing disaccharide.

o1 RS it A ol |

Contd.
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Write the mathematical expression of

~ Clausius-Clapeyron equation.

sl @Tiad Fiesas ifafes e o
ﬁ‘“ | ; ;

Out of formic acid and acetic acid which
one would you expect to react with

Tollen’s reagent ?

W@%W@%ﬁﬂm%m@m-
e Rereees tice Rt e e

Draw the primary structure of protein.

iR el SR Ba it

The Gibbs’ phase rule is
STR< el M Ta

) F=C-P+1

i) F=P-C+1’

(i) F=C-P+2

i) F=P-C+2

3 (Sem-4/CBCS) CHE HG/RC/G 2

(g)

Which one of the following aminés will
not show carbylamine test ? -

oA (IR TR PRI TS (PR
i) CH,NH,

(i) CH,CH,NH,
(i) (CH;),NH
(iv) (CH,),CHNH,

“Answer the following questions : 2x4=8 .

ook T 2R Oes e ¢

(a)

(b)

Write the number of phases and number
of components present in the following
system : ' h

e el SEPTEE 2R R W T AR

fert ¢ -

(i) Ny(g)+3H,(g)=>2NH;(g)

(i) Solution of acetic acid in water
siivre afpfos aibws W

How does the molar conductivity of a

weak electrolyte vary with dilution?
Explain. ' : '

3 (Sem-4/CBCS) CHE HG/RC/G 3 - Contd.




e

(d)

awmrqzﬁgaﬁmmﬂﬁaﬁﬁmﬁ‘fﬁ?m
T 2 A 4 |

How would you convert p-nitrobenzoyl
chloride to p-nitrobenzaldehyde ?

PR AT SRIRES p-AIe @R i3
(I ol fare

Amina acids have exceptionally low K

‘and.K, values. Why ?
M TR K o1 K, < S 038 <51 Rk o

-Answer the following queStions : (any three)

o9x3=15

Tﬁmw“@mﬁm (ﬁmmzcﬁfr)

' (a)

(b)

What is tertiary structure of protein ? -

Mention different types of interactions
involved in tert1ary structure of protein.

1+4=5

ﬁﬁﬂ%%ﬂ%ﬁéﬂ%?ﬁﬁﬂaf@mﬂ%—%
%W\WWWQSI%QWQ

Draw and explaln the phase diagram of

water system Why is the phase diagram

of water system dlfferent from that of
other one component system

2+2+1=5
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(e)

TreTogd AE oo Sifes i T | WNER 9

; @vﬁaﬂ*{@mwmﬁajw%m

Give five points each of similarity and
dissimilarity between glucose and

fructose.

aa’@mﬁ’woﬁmmwmm
o1t |

Explain the principle of conductometric
titration of a strong acid vs. strong base.

%W—@@WWWWW
WWWl

At 25°C the sp‘ec1fic conduetance of

carefully distilled water is 58.0x107 Sm'!
and the A°m values for H* and OH- ions
are 349.8x10* Sm2mol! and 198.5x10+

Sm?mol™! respectively. Assuming that A

- differs very little from A° , calculate the

ionic product of water at 25°C.

25°C THO® ARAE fifos T 21T [
RQIROR T 58.0%10°7 Sm! IS H* S OH-
S A° S A IAEE 349.8x10* Sm*mol™
W% 198.5x10% Sm2mol™ | T ) S 4° F
TR (SR, AN 412 AT (90T 25°C Teoo

AR SRR e S 1]
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(a)

(b)

()

Answer the followmg questions : (any three)

10x3=30

wﬁmm«wmﬂﬁm%ﬁm'

Discuss” how the primary structure of
peptide is determined.

mvrm‘i‘mmﬁamﬁmﬁq‘ﬂwmw :

11

(i) Explain a method of conversion of

glucose into arabinose. BE

m’w&mﬁﬂﬁﬂmﬂmmaﬁmﬁf"
WW!

‘(i) How is benzenediazonium chlorlde

prepared ? How is it converted to
benzene, phenol and p-hydroxyazo
benzene ? 2+3=5

Soing @Eﬂﬂ’ﬁm | PACR 6 i)
I TT? 2N (IR, Faa o po
m’%ﬁﬂ‘a’zﬁwﬁﬁa femts oo =9
'{ﬂ?

Discuss the mechanism of the following
conversions : 5x2=10

T firdl] FeATaReare frifa e 54 2

| (i) ‘ Benzaldehyde to cinnamic acid

W@sﬁwmﬁ@aﬁw
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(e)

‘(ii) Acetamide to methanamine

GBTENRGS frTsizste

What is eutectic point? Draw and
explain the phase diagram of Pb-Ag
system. Write two uses of eutectic
mixtures. 1+(3+4)+2=10

2TGfa R 62 Pb-Ag o @livg) foa oif
I T | TSR o 15! R i)

iy What is meant by transport number
of an ion ? Explain the method of

- its determination by moving
boundary method. 2+5=7 -

Wi ARz zﬁ%m & et e vem
, ﬂfiﬁwﬁﬁmmﬁcfawmw
el

(i) Amoving boundaryvexperiment‘ was

carried out with 0.01M solution of
KCl (specific conductance = 1.29
Sm™') using CdCl, as the indicator
electrolyte. A current of 5.21 mA
- was passed through the tube of
0.230cm? cross-sectional area. It
- .was observed that the boundary
moved through 4.16cm in 1h.

Calculate the mobility of X' ion.
‘ 3
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